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M.M:60               Time: 60 minutes  

OFFLINE EXAMINATION (PHASE–II)  

 

 

Name:________________________  Reg. No. _______________ Mobile No.________________________  

General Instructions:  1. Duration of the examination is 60 minutes. Question Paper contains 60 questions with maximum 60 marks.  2. There will be negative marking in Phase – II, i.e. ¼ mark will be deducted for each incorrect answer.  3. Use of gadgets is not allowed.  4. Students must abide by the instructions issued during the examination by the invigilator or the centre incharge.  5. Before attempting the question paper ensure that it contains all pages & no question is missing.  6. Immediately fill in the particulars on this page of the test booklet and OMR with BLACK ballpoint pen only. Use of pencil is strictly prohibited.  7. Fill and darken the bubbles completely. Do not put a tick or a cross.  8. Half –filled or over-filled bubbles will not be read by the software & liable to be rejected. 
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  Directions (Q1 & Q2): Read the passage carefully and answer the questions: 
In a bustling town lived a curious boy named Arjun. Every evening, Arjun would visit the 

town library to explore new books. He loved reading about distant lands, mysterious 

adventures, and heroic characters. One day, Arjun found a dusty old book hidden in a corner 

of the library. As he opened it, he noticed that the pages were filled with strange symbols and 

maps. Intrigued, Arjun decided to take the book home to study it further. Little did he know, 

this book would lead him to an adventure beyond his wildest dreams. 

Q1. How did Arjun feel when he found the dusty old book?   
 (a) Scared   (b) Uninterested   (c) Curious   (d) Disappointed  

Q2. What can be inferred about the book that Arjun found?   
 (a) It was a common book that everyone read.    

 (b) It contained secrets that could lead to an adventure.   

 (c) It was a simple storybook for children.           

 (d) It was a diary of the librarian.   

Q3. Identify the abstract noun in the following sentence: 
The child's bravery impressed everyone.  
 (a) child                       (b) bravery                       (c) impressed (d) everyone   

Q4. What is the plural form of 8phenomenon9?   
 (a) Phenomenoon        (b) Phenomenae               (c) Phenomena      (d) Phenomeni   

Q5. Choose the synonym of 8obsolete9:   
 (a) Modern                  (b) Outdated                     (c) Relevant        (d) New   

Q6. Choose the adjective of quantity in the given sentence: 
The problem is less difficult than the one we had to solve last week. 
 (a) difficult                  (b) less                             (c) last         (d) week 

Q7. Which type of pronoun is used to show that something belongs to someone? 

 (a) Personal pronoun         (b) Possessive pronoun            

 (c) Reciprocal pronoun             (d) Reflexive pronoun 

 

ENGLISH (15 Marks) 
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Direction (Q8 to Q10): Choose the correct option and complete the given sentences: 
Q8. Rohan had ______________ his work before I asked him to have dinner.  

 (a) finished                  (b) finishing                     (c) finishes          (d) finish 

Q9. We _____________ abide by the traffic rules. 
 (a) can                         (b) could                           (c) must                 (d) had 

Q10. Riya had sore throat and it got ________________ when she had an ice-cream.  
 (a) bad                         (b) worst                          (c) worse         (d) good 

Direction (Q11 & Q12): Fill in the blanks with appropriate articles:   
Q11. She has ________ master9s degree in ________ science. 

 (a) a, no article           (b) the, an                      (c) the, the     (d) a, a 

Q12. _________ Statue of Liberty is ___________ iconic symbol of American freedom.   
 (a) a, the                     (b) the, an           (c) the, the     (d) a, a 

Q13. Identify the type of the given sentence: 
I can't believe we won the game!    
 (a) Declarative          (b) Interrogative     (c) Imperative (d) Exclamatory 

Q14. Which preposition correctly completes the sentence? 

He is afraid ___________heights. 
 (a) on                            (b) in                                (c) from   (d) of 

Q15. Which conjunction correctly completes the sentence? 

I will wait here _______________ you come back. 
 (a) so                            (b) until         (c) but  (d) or 

 

 

 

Q16. Find the next term of the given series- 80, 10, 70, 15, 60, ____. 
 (a) 20    (b) 25    (c) 30   (d) 50 

Q17. How many lines of symmetry will be there in the given figure? 

 

 

 

 (a) 4     (b) 2      (c) 10   (d) 6 

MATHEMATICS (15 Marks) 
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Q18. In the given figure which of the following will come at place of (?). 
   

 

     (a)                                (b)                                  (c)                             (d)     

         

Q19. Which of the following combinations of coins and notes will NOT add up to ₹100? 

 (a) 5 notes of ₹10 and 10 coins of ₹5  

 (b) 1 note of ₹50, 2 notes of ₹20 and 5 coins of ₹1 

 (c) 10 notes of ₹10 

 (d) 9 notes of ₹10 and 10 coins of ₹1 

Q20. Which of the following is the standard form of the given expanded form of a    
          number? 

         60000 + 8 

 (a)  6008    (b) 66008          (c) 60668   (d) 60008 

Q21. The difference between the largest three- digit number and the largest three- digit 
number with different digits is _________. 
 (a) 10   (b) 0           (c) 12   (d) 13 

Q22. Monu, Sameer, Daiwik and Krishna collected soda cans in their neighbourhood 
this year. Monu collected 9043 cans, Sameer collected 9403 cans, Daiwik collected 943 
cans and Krishna collected 9034 cans. Arrange them in ascending order. 
 (a) Monu, Sameer, Daiwik, Krishna         (b) Daiwik, Krishna, Monu, Sameer 

 (c) Daiwik, Monu, Krishna, Sameer         (d) Sameer, Monu, Krishna, Daiwik 

Q23. The least number among 8970, 8790, 8097, 8079 is _______ 

 (a)  8970    (b) 8790           (c) 8097  (d) 8079 

Q24. 4 thousand + greatest 2 -digit number = ________ 

 (a) 4099    (b) 4999           (c) 4090  (d) 4000 

Q25. When 1685 is added to 2313, the digit in the tens place of the answer is_________. 
 (a) 3    (b) 8            (c) 9    (d) 3998 

Q26. A basket contains 18 apples. If I want to share them equally among 6 friends, how 
many apples will each friend get? 

 (a) 2     (b) 3            (c) 4    (d) 6 
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Q27. The cost of one book is ₹25. What will be the price of 15 books? 

 (a) ₹140    (b) ₹375           (c) ₹250   (d) ₹500 

Q28. If I have 15 crayons and I want to put them into boxes of 5 crayons each, how    
many boxes can I make? 

 (a) 3    (b) 2            (c) 4    (d) 5 

Q29. The number of triangles in the following figure are :- 
  

 

 (a) 8    (b) 12           (c) 6    (d) 10 

Q30. Stumps of a wicket is an example of (with reference to ground). 
 (a) perpendicular lines            (b) horizontal lines        

 (c) parallel lines            (d) sector 

 

 

 

Q31. Which organ helps us filter waste and excess water from our blood? 

 (a) Liver    (b) Kidney          (c) Heart   (d) Lungs 

Q32. Which person9s job involves helping people with their money? 

 (a) Banker                      (b) Accountant    

 (c) Financial Advisor             (d) All of the above  

Q33. Which season is associated with blooming flowers and new plant growth? 

 (a) Autumn   (b) Winter           (c) Spring   (d) Summer  

Q34. What are the dog, bear and crow examples of?   

 (a) Herbivores   (b) Carnivores          (c) Omnivores  (d) None of the above 

Q35. Which part of the plant grows underground and absorbs water and minerals? 

 (a) Stem    (b) Flower          (c) Root   (d) Leaf 

Q36. Which of the following helps in water cycle? 

 (a) Rain    (b) Fog           (c) Dust   (d) Smog 

Q37. What do plants take in from the air to make food? 

 (a) Oxygen   (b) Nitrogen          (c) Carbon dioxide  (d) Water Vapour 

 

EVS (15 Marks) 
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Q38. What happens to water in a puddle when the Sun shines? 

(a) It freezes   (b) It evaporates            (c) It stays the same  (d) It turns to ice 

Q39. During which season do leaves usually fall from trees? 

 (a) Winter   (b) Spring    (c) Summer   (d) Autumn  

Q40. Which layer of the Earth do we live on? 

 (a) Crust    (b) Mantle    (c) Core   (d) Atmosphere 

Q41. What is the largest ocean on Earth? 

 (a) Atlantic Ocean  (b) Indian Ocean   (c) Arctic Ocean  (d) Pacific Ocean 

Q42. Which of the following animals is a mammal? 

 (a) Crocodile   (b) Dolphin    (c) Parrot   (d) Shark 

Q43. What is the main source of water on Earth? 

 (a) Rivers   (b) Oceans    (c) Rain  (d) Wells 

Q44. What is the primary purpose of transportation? 

 (a) To make food  

 (b) To move people and goods from one place to another 

 (c) To communicate with others  

 (d) To build houses                                          

Q45. Which bird stitches two leaves together with its beak to make a nest? 

 (a) Weaver bird      (b) Kingfisher    

 (c) Tailor bird       (d) Woodpecker 

 

 

 

Q46. Who was the first Indian woman IPS officer? 

 (a) Kiran Bedi   (b) Sarojini Naidu   (c) Sarla Thakral  (d) Shila Dawre 

Q47. In Kathakali the colour of red on face denotes ______________ 

 (a) evil    (b) virtue    (c) wisdom   (d) truth 

Q48. In which of the following years, first 8Guinness Book of Records9 was published? 

 (a) 1954    (b) 1955    (c) 1956   (d) 1957 

Q49. Which of the following is the capital of two states? 

 (a) Lucknow   (b) Panaji    (c) Kolkata   (d) Chandigarh     

    

G.K (15 Marks) 
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Q50. Which is the capital of Tripura? 

 (a) Agartala   (b) Chennai    (c) Gangtok   (d) Jaipur 

Q51. Who is the author of the Harry Potter series? 

(a) J.K. Rowling  (b) C.S. Lewis  (c) Roald Dahl (d) J.R.R.T Olkien 

Q52. ATM stands for: 
(a) Automated Teller Machine    (b) Any Time Machine  

(c) All Time Machine      (d) Automatic Teller machine                               

Q53. Which is the national sport of Australia? 

 (a) Lawn Tennis  (b) Badminton   (c) Cricket   (d) Wrestling  

Q54. Who was the second President of India? 

 (a) Zakir Hussain      (b) Rajendra Prasad    

 (c) S. Radhakrishnan      (d) V.V. Giri 

Q55. Who invented Computer? 

 (a) Charles Babbage (b) Roger Bacon  (c) Tim Treling (d) Joseph Aspdin 

Q56. Hariprasad Chaurasia is associated with which musical instrument? 

 (a) Tabla   (b) Flute            (c) Shehnai  (d) Santoor 

Q57. Which state is known as the Spice Garden of India? 

 (a) Kerala   (b) Karnataka   (c) Punjab   (d) Tripura 

Q58. What is the country code TLDs for Afghanistan? 

 (a) .af    (b) .ag    (c) .ar   (d) .aa 

Q59. 8.br9 is the country code TLDs of which country? 

 (a) Bangladesh   (b) Brunei    (c) Brazil   (d) Barbados 

Q60. Which is the largest animal on the earth? 

 (a) Elephant   (b) Blue Whale  (c) Giraffe  (d) Black rhinoceros 
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